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TNPSC GROUP I test batch – 2020 
TEST XI – APTITUDE AND MENAL ABILITY STEPWISE SOLUTION 

 

1 2 3 4 5 6 7 8 9 10 
D D C C C C B D A C 

11 12 13 14 15 16 17 18 19 20 
C A A A D D C C A C 

21 22 23 24 25 26 27 28 29 30 
C C D C B B A C D D 

31 32 33 34 35 36 37 38 39 40 
C D C C C C A A B A 

41 42 43 44 45 46 47 48 49 50 
B B D B C C B B B C 

51 52 53 54 55 56 57 58 59 60 
C B C C D A B A A A 

61 62 63 64 65 66 67 68 69 70 
B A C A C B D A B D 

71 72 73 74 75 76 77 78 79 80 
B A C A C C A A C A 

81 82 83 84 85 86 87 88 89 90 
C A C A A D B B B B 

91 92 93 94 95 96 97 98 99 100 
A C C A C D A A A A 
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61. A sum of money invested at simple interest triples itself in 8 years. How many times will it 
bcome in 20 years time? 
a. 7 times   b. 6 times   c. 8 times   d. 9 times  
xU Fwpg;gpl;l njhifahdJ jdptl;b tPjj;jpy; 8 – Mz;Lfspy; Kk;klq;fhfpwJ vdpy; 20 
Mz;Lfspy; mj;njhif vj;jid klq;fhf khWk;.  
a. 7 times   b. 6 times   c. 8 times   d. 9 times  

 
tpsf;fk; 
  

  S.I = 
100

pnr
 

  n = 8,  S.I = 2p  

  
100 . 100 2

8

S I p
r

pn p

 
= =


 

  r = 25% 

  S.I = 
20 25

5
100

P
p

 
=  

  A = P + S.I  
  A = P + 5P = 6P  
 
62. The simple interest on a certain sum at 5% for 9 months is `10 greater than the simple 

interest on the same sum at the rate of 3% for 14 months. What is the sum of interest in both 
the cases? 
a. 290   b. 320   c. 420   d. 370 
xU Fwpg;gpl;l njhifahdJ jdptl;b Kiwapy; 5% tl;btPjj;jpy; 9 khjq;fSf;F fpilf;Fk; 
jdptl;bahdJ mNj njhif 3% tl;btPjj;jpy; 14 khjq;fspy; fpilf;Fk; jdptl;bia tpl 
&.10 mjpfk; vdpy; ,uz;L tl;bnjhifapd; $Ljy; vt;tsT?  
a. 290   b. 320   c. 420   d. 370 

 
tpsf;fk; 
  

  
9 145 3
12 12

100 100

p p   
− = 10  

  
5 9 3 14

10
12 100 12 100

p p   
− =

 
 

  ( )45 42 10
1200

p
− =  

  

  

3
10

1200

p
=  

 3 p = 12000 
  p = 4000 

( )
4000

5 9 14 3
12 100

  + 


       

  = 
4000

1200
 (87)        

  = 290          
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63. In 4 years, the simple interest on a certain sum of money is 7/25 of the principal. The 
annual rate of interest is 
a. 5%   b. 6%  c. 7%   d. 8% 
xU njhif 4 – Mz;Lfspy; jdptl;b tPjj;jpy; mjd; mrypy; 7/25 gq;F tl;b fpilf;fpwJ 
vdpy; Mz;L tl;btPjk; fhz;f.  
a. 5%   b. 6%  c. 7%   d. 8% 

 
tpsf;fk; 
 

  7
25

p
p

=
4

100

r 
 

  
1007

25 4
r =  

  r = 7%  
 
64. The simple interest on a sum of money is one-ninth of the sum. The number of years is 

numerically equal to the rate percent per annum. The rate of interest is. 

a. 13 %
2

  b. 12 %
2

  c. 14 %
2

  d. 15 %
2

 

xU Fwpg;gpl;l mrypd; jdptl;bahdJ mrypy; 9-y; 1 – gq;F MFk;. NkYk; Mz;LfSk;> 
mjd; tl;btPjKk; vz;zstpy; rkk; vdpy; tl;b tPjj;ij fhz;f.  

a. 13 %
2

  b. 12 %
2

  c. 14 %
2

  d. 15 %
2

 

 
tpsf;fk; 
  

  S.I = 
9

p     n = r 

  
9 100

p r rp  
 =  

  2 100 10
39

r = =  

  r = 13 %
3

 

   
65. ‘A’ borrowed a sum of money from ‘B’ at the rate of 8% per annum simple interest of the 

first 4 years, 10% per annum for the next 6 years and 12% per annum for the period beyond 
10 years. If ‘A’ pays a total of `12160 as interest only at the end of 15 years, how much 
money did he borrow? 
a. 9000  b. 10000  c. 8000  d. 7000 
A vd;gth; xU Fwpg;gpl;l njhifia B – aplkpUe;J jdptl;b tPjj;jpy; Kjy; 4 
Mz;LfSf;F 8% tl;btPjj;jpYk;> mLj;j 6 Mz;LfSf;F 10% tl;btPj;jjpYk;> 10 
Mz;LfSf;F Nky; 12% tl;btPjj;jpy; fld; ngWfpwhh;. NkYk; mth; 15 Mz;LfSf;fhd 
tl;b kl;Lk; & 12160 nrYj;Jfpwhh; vdpy; mth; fld; ngw;w njhif vt;tsT?  
a. 9000  b. 10000  c. 8000  d. 7000 
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tpsf;fk; 
  

 S. I = ( (8 4)% (10 6)% (12 5)% 12160  +  +  =  

  32% + 60% + 60% = 12160 
      152% = 12160 
         1% = 12160 
            152 
     1% = 80  
     100% = 8000  
 
66. A man invested one-third of his capital at 7%, one-fourth at 8% and the remainder at 10% at 

simple interest, If his annual income is ` 561, the capitals is. 
a. 6500  b. 6600  c. 7000  d. 7600  
xU egh; jd;Dila mrypy; 3-y; 1 gq;F 7% jdptl;btPjj;jpYk;> 4-y; 1 gq;F  8% kw;Wk; 
kPjpia 10% jdptl;b tPjj;jpy; nfhLf;fpwhh;. ,jdhy; mth; ngWk; tUkhdk; ì 561 vdpy; 
mry; vt;tsT?  
a. 6500  b. 6600  c. 7000  d. 7600  

 
tpsf;fk; 
  

 let capital be 12x  

 
12 12

7% 8% 5 10% 561
3 4

x x
x  +  +  =  

  = 4x × 7% + 3x × 8% + 5x × 10% = 561 

  = ( )
1

28 24 50 561
100

x x x+ + =  

  
102

561
100

x
=  

  x = 
561 100

102


 

  x = 550  
  / 12x = 6600 
 
67. In 4 years, ` 6000 amounts to ` 8000. In what time at the same rate will `525 amounts to ` 

700? 
a. 5   b. 2   c. 3   d. 4 

4 Mz;Lfspy; ₹6000 MdJ ₹8000 khWfpwJ vdpy; mNj tl;b tPjj;jpy; 525 MdJ 700 
khWtjw;F MFk; fhyk; fhz;f?  
a. 5   b. 2   c. 3   d. 4 

 
tpsf;fk; 
  

  r = 
. 100S I

pn


     

8000

6000

2000
       

  = 
2000 100

6000 4




     

700

525

175
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  r = 25 %
3

 

  n = 
. 100S I

pr


      

  
175 100

25525
3




 = 4 

  n = 4 
            
68. Two equal sums were borrowed at 8% simple interest per annum for 2 years and 3 years 

respectively. The difference in the interests was ` 56. The sums borrowed were. 
a. 700   b. 800   c. 690   d. 720  
,uz;L rkkhd njhifia> 8% jdptl;b tPjj;jpy; KiwNa 2 Mz;Lfs;> 3 Mz;LfSf;F 
fld; ngWfpwhh;. tl;b tpjj;jpahrk; ₹56 vdpy; fld; ngw;w njhif vt;tsT?  
a. 700   b. 800   c. 690   d. 720  

 
tpsf;fk; 
  

  let x by the sum  

  
8 (3 2)

56
100

x  −
=  

   x = 
56 100

8


 

   x = 700  
 
69. A sum was put at simple interest at a certain rate for 3 years. Had it been put at 1% higher 

rate, it would have fetched ` 5100 more. The sum is 
a. 150000  b. 170000  c. 160000  d. 180000 
xU Fwpg;gpl;l mryhdJ jdptl;b tPjj;jpy;  3 Mz;LfSf;F nrYj;jg;gLfpwJ. NkYk; 
tl;btPjk; 1% cah;jpdhy; tl;bahdJ 5100 mjpfk; fpilf;fpwJ vdpy; mry; vt;tsT?  
a. 150000  b. 170000  c. 160000  d. 180000 

 
tpsf;fk; 

  S.I for 3 year = 5100  

   1 year = 
5100

3
 

    = 1700  
  1% of sum  = 1700 
   100% = 170000 
 
70. In what time will a sum of money double itself @ 20% per annum simple interest? 

a. 4   b. 7   c. 6   d. 5 

xU mryhdJ> Fwpg;gpl;l fhyj;jpy; 20% jdptl;b tPjj;jpy;> ,Uklq;fhfpwJ vdpy; fhyk; 
fhz;f?  
a. 4   b. 7   c. 6   d. 5 
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tpsf;fk; 

  S.I. = 
100

pnr
 

  p = 
20

100

p n 
 

  n = 
100

20
 

  n = 5 
 
71. A sum of money at compound interest doubles itself in 15 years. It will become eight times 

of itself in 
a. 40   b. 45  c. 35   d. 30 
$l;L tl;bapy; Fwpg;gpl;l njhifahdJ 15 tUlq;fspy; ,Uklq;fhfpwJ vdpy; vl;L 
klq;fhf khw vj;jid Mz;LfshFk;.  
a. 40   b. 45  c. 35   d. 30 

 
tpsf;fk; 
 

 It becomes 2 times in 15 years 
 It becomes 4 times in 30 years 
 It becomes 8 times in 45 years 
 
72. The difference between compound interest and simple interest at the same rate ` 5000 for 2 

years is ` 72. The rate of interest per annum is. 
a. 12%   b. 14%  c. 11%  d. 10%  
&gha; 5000 njhifia Fwpg;gpl;l rjtPj tl;b tPjj;jpy;> 2 Mz;LfSf;F nfhLf;Fk;nghOJ 
jdptl;bf;Fk;> $l;Ltl;bf;Fk; cs;s NtWghL 72 vdpy; tl;b tPjk; vt;tsT?  
a. 12%   b. 14%  c. 11%  d. 10%  

 
tpsf;fk; 

  D = 
2

2100

pr
 

  72 = 
25000

100 100

r


 

  r2 = 
72 100 100

5000

 
 = 144 

  r = 12%  
 
73. The ratio of the amount for two years under Compound Interest annually and for one year 

under Simple Interest is 6:5. When the ratio of interest in same, then the value of the rate of 
interest is 
a. 18%  b. 17%  c. 20%  d. 15%  
tl;b tpfpjk; rkkhf ,Uf;Fk;NghJ ,uz;L Mz;Lf;fhd $l;Ltl;b njhiff;Fk; Xh; 
Mz;Lf;fhd jdptl;b njhiff;Fk; cs;s tpfpjk; 6 : 5 vdpy; tl;b tPjk; vt;tsT?  
a. 18%  b. 17%  c. 20%  d. 15%  
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tpsf;fk; 
 

  
( )

2

1
100 6

5

100

rP

pr
P

+
=

 
+ 

 

 

  ( ) 61
100 5

r + =  

  
100 6

5100

r+
=  

  100 + r = 6 100
5
  

   r = 20%  
 
74. A tree was planted three years ago. The rate of its growth is 30% per annum. If at present, 

the height of the tree is 670cm. What was it when the tree was planted? 
a. 305   b. 350   c. 360  d. 380  
xU kuk; %d;W Mz;LfSf;F Kd;G elg;gLfpwJ. mjd; tsh;r;rp Mz;Lf;F 30% tsh;fpwJ. 

kuj;jpd; jw;Nghija cauk; 670 nr.kP  vdpy; kuk; eLk;nghOJ ,Ue;j cauk; vt;tsT?  
a. 305   b. 350   c. 360  d. 380  

 
tpsf;fk; 
  

  let height of the tree original 'x' cm  

    
3

30
1 670

100
x

 
 + = 
 

 

    ( )
3

13 670
10

x =  

     10 10 10670
13 13 13

     

     x = 305 cm  
  
75. The population of a village is 10000. If the population increases by 10% in the first year, by 

20% in the second year and due to mass exodus, it decreases by 5% in the third year, what 
will be its population after 3 years? 
a. 12500  b. 14000  c. 12540  d. 12000 
xU fpuhkj;jpd; kf;fs; njhif 10000 MFk;. Kjyhk; Mz;by; 10%, ,uz;lhk;; Mz;by; 
20% mjpfhpf;fpwJ. NkYk; ,lngah;T fhuzkhf %d;whkhz;by; 5% FiwfpwJ vdpy; 
%d;W Mz;Lfs; Kbtpy; kf;fs; njhif vt;tsT?  
a. 12500  b. 14000  c. 12540  d. 12000 

 
tpsf;fk; 
  

  
110 120 95

10000
100 100 100

    

  = 12540  
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76. Mr. ‘A’ earns an amount of ` 1656 for the third year and ` 1440 for the second year on the 
same sum. Find the rate of interest if it is lent at compound interest. 
a. 13%   b. 12%  c. 15%  d. 20%  
A vd;gth; Fwpg;gpl;l njhifia $l;Ltl;b Kiwapy; nrYj;jp mjd; %yk; %d;whkhz;by; 
& 1656 k;> ,uz;lhkhz;by; & 1440 k; njhifahf ngWfpwhh; vdpy; tl;btPjk; fhz;f?  
a. 13%   b. 12%  c. 15%  d. 20%  

 
tpsf;fk; 

 
  Interest of one year 1656 – 1440 = 216  

   
100

%
1440 1

I
r


 =


 

   
216 100

1440


=  

   r = 15%  
 
77. A scooter costs ` 25,000 when it is brand new. At the end of each year, its value is only 80% 

of what it was at the beginning of the year. What is the value of the scooter at the end of 3 
years? 
a. 12800  b. 13000  c. 14200  d. 15000 
xU Gjpa Nkhl;lhh; tz;bapd; kjpg;G ₹25000 xt;nthU Mz;bd; Kbtpy;> mjd; kjpg;G 80 
rjtPjkhf FiwfpwJ vdpy; 3-k; Mz;L Kbtpy; tz;bapd; kjpg;G fhz;f.  
a. 12800  b. 13000  c. 14200  d. 15000 

 
tpsf;fk; 
  

  25000 ( )
3

201
100

−  

   = 25000 4 4 4
5 5 5

    

   = 12800  
 
78. If the population of a town at present is 10648 and the rate of increment is 10% per year. 

What was the population before 3 years? 
a. 8000  b. 7000  c. 9000  d. 8500  
xU efuj;jpd; jw;Nghija kf;fs; njhif 10648. ,J Mz;Lf;F 10% mjpfhpg;G vdpy; 
%d;whz;Lf;F Kd; ,Ue;j kf;fs;njhif vt;tsT?  
a. 8000  b. 7000  c. 9000  d. 8500  

 
tpsf;fk; 
  

  
100 100 100

10648
110 110 110

    

   = 8000 
 
79. The compound interest on ì  2800 for 18 months at 10% P.A is  

a. 324   b. 524   c. 434   d. 234   
ì 2800 f;F Mz;Lf;F 10% $l;L tl;b tPjj;jpy; 18 kjq;fSf;fhd $l;Ltl;b fhz;f.  
a. 324   b. 524   c. 434    d. 234   
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tpsf;fk; 
 

 CA = 2800 ( ) ( )10 51 1
100 100

+ + ] 

 = 2800 ( )11 21
10 20
  

 A = 3234 
 C.I = A – P  
  = 3234 – 2800  
  C.I = 434  
 
80.  At what rate percent compound interest does a sum of money become nine fold in 2 years?  

a. 200%  b. 150%   c. 180%  d. 90%  
xU njhif 2 Mz;Lfspy; xd;gJ klq;fhf khw vt;tsT rjtPjk; $l;Ltl;b tPjj;jpy; 
nfhLf;f Ntz;Lk;?  
a. 200%  b. 150%   c. 180%  d. 90%  

 
tpsf;fk; 
  

 Let the sum 'x'  

  ( )
2

9 1
100

rx x= +  

  ( )
2

9 1
100

r= +  

  ( )3 1
100

r= +  

  
100

3
100

r+
=  

  r = 200  
 

81. V, VIII, XI, XIV, XVII, ______ , XXIII  
a. XII   b. IX   c. XX   d. XVII 

 
tpsf;fk; 

 
V + 3 = VIII, VII + 3 = XI ....  
XVII + 3 = XX  

 
82.  5040, 720, 120, 24, _____, 2.  

a. 6   b. 7  c. 8   d. 9 
 

tpsf;fk; 
  

 The number are divided by 7, 6, 5, 4, & 3 respectively 

  24 6
4
=  

 
83.  49, 121, 169, 289, ______, 529  

a. 431   b. 189   c. 361   d. 383  
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tpsf;fk; 
  
 72 = 49   132 = 169  
  112 = 121   172 = 289   (prime number series) 
      192 = 361 

they are all consecutive prime numbers square.  
  
84.  3, 9, 10, 30, 31 ____?  

a. 93   b. 51   c. 61   d. 72 
  

tpsf;fk; 
 
  3 × 3 = 9 + 1 = 10  
  10 × 3 = 30 + 1 = 31 
  31 × 3 = 93 
  
  
85.  What is the next letter in the series. B, D, G, K, P, ______?  

a. V   b. S    c. Y    d. t  
mLj;j vOj;ij fz;Lgpb. B, D, G, K, P, _________?  
a. V   b. S    c. Y    d. t  

 
tpsf;fk; 
  

  B + 2 = D,   D + 3 = G 
  G + 4 = K,   K + 5 = P  
  P + 6 = 16 + 6 = 22 
  22rd letter = V  
 
86. 63, 66, 71, 78, 87 ______?  

a. 108   b. 88    c. 96   d. 98 

  
tpsf;fk; 

 
  63 + 3 = 66 
  66 + 5 = 71 
  71 + 7 = 78 
  78 + 9 = 87  
  87 + 11 = 98  
 
87.  6, 15, 35, 77, 143, _______, 323 

a. 176   b. 221   c. 187   d. 225 
 

tpsf;fk; 
  

  2 × 3 = 6      (/prime numbers)  
  3 ×5 = 15     11 × 13 = 143 
  5 × 7 = 35      13 × 17 = 221 
  7 × 11 = 77      17 × 19 = 323 
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88.  
120 60 40 30 24

, , , ,
120 120 120 120 120

 ______?  

a. 
10

120
  b. 

20

120
  c. 8

120
  d. 15

120
 

 
tpsf;fk; 
  

  
120 60 40 30 24

, , , ,
120 120 120 120 120

 

  1 1 1 1 1 1, , , , ,
1 2 3 4 5 6

  

  
201

6 120
 =  

 
89.  b, c, d, f, g, h, j, k, l, m, n, _____?  

a. o   b. p   c. q   d. m  
tpsf;fk; 
 
consecutive consonants  

 
90.  12, 6, 6, 9, 18, 45, _________. 

a. 105   b. 135   c. 1475  d. 1075  
 

tpsf;fk; 
  

 12 × 0.5 = 6 
 6 × 1 = 6 
 6 × 1.5 = 9 
 9 × 2 = 18  
 18 × 2.5 = 45 
 45 × 3 = 135  
 
91. If a clock strikes appropriate numbers of times at each hour, how many times will it strike 

in a day  
a. 156   b. 124   c. 140  d. 152  
xU Rth; fbfhuk; xt;nthU kzp Neuj;jpw;Fk; kzpf;Nfw;wthW rj;jkpLfpwJ vdpy; xU 
ehspy; vj;jid Kiw rj;jkpLk;.  
a. 156   b. 124   c. 140  d. 152  

 
tpsf;fk; 
  

  2(1 2 3 4 .... 12) + + + + +  

  
12 13

2
2

 
=  

 
      

( 1)

2

n n + 
 
 

 

  = 156  
 
92.  If 12 + 22 + 32 + ....... + 102 = 385, then 32 + 62 + 92 + ...... + 302 is equal to  

a. 2485    b. 4475   c. 3465  d. 3575  
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12 + 22 + 32 + ....... + 102 = 385, vdpy; 32 + 62 + 92 + ...... + 302 d; kjpg;G   
a. 2485    b. 4475   c. 3465  d. 3575  

 
tpsf;fk; 
  

 32 + 62 + 92 + .... + 302  
 = 32 (12 + 22 + 32 + ..... + 102) 
 = 32 × 385 = 9 × 385 
  = 3465  
 
93.  142 + 152 + .... + 302 is equal to  

142 + 152 + ....302 f;F rkkhd kjpg;G  
a. 6386   b. 6863  c. 8636  d. 3863 

 
tpsf;fk; 

 142 + 152 + ......... + 302  
  = (12 + 22 + 32 + .... + 302) – (12 + 22 + ...... + 132) 

  =
30(30 1)(2 30 1)

6

+  +
 - 

13(13 1)(2 13 1)

6

+  +
 

( ( 1)(2 1)

6

n n n+ +
  

  = 
30 31 61 13 14 27

6 6

   
−  

  = 8636 
  

94.  
2 3 4

2 3 2 3
......

5 5 5 5
+ + + +   

a. 13
24

  b. 17
24

  c. 15
24

  d. 11
24

 

 
tpsf;fk; 

  G.I  = ( )3 5
2 2 2 .....

5 5 5
+ + +  + ( )2 6

3 3 .....
5 5
+ +   

  = ( )3 5
1 1 12 ......

5 5 5
+ + +   + 3 ( )2 4 6

1 1 1 ......
5 5 5
+ + +   

  2 (a + ar + ar2 + ..... + ∞  3(a + ar + ar2 + ......... + ∞) 

  a = 
3

2

1
51 1,

5 1 5
5

a r= = =   2
1 1,

5 5
a r= =  

   S∞ = 
1

a

r−
 

  
2

1
52 3
11

5

 
  +
 −
 

 
2

2

1
5
11

5

 
 
 −
 

 

  ( )
2

1
5 12 3

511
5

+ 
−

 

  = 5 13
24 5

 13
24

 
= 

 
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95.  For what value of x, the numbers 72 , ,
7 2

x −− are in G.P? 

a. 1, -2  b. 1, -3,   c. 1, -1   d. 1, -5  

ngUf;F njhlh; thpirapy; cs;s njhlhpy; x d; kjpg;G fhz;f. 72 , ,
7 2

x −−  

a. 1, -2  b. 1, -3,   c. 1, -1   d. 1, -5  
 

tpsf;fk; 
  

  72 , ,
7 2

x −−  are in G.P 

  2 7 2
2 7

x − − =   

  x2 = 1 
  x = 1  

 
96. Find the number of terms in the A.P. 22, 28, 34, ...... 616  

a. 99   b. 80   c. 78  d. 100  
gpd;tUk; $l;Lnjhlh; thpirapy; cs;s vz;fs; vt;tsT?  
njhlh; 22, 28, 34, ...... 616. 
a. 99   b. 80   c. 78  d. 100  

 
tpsf;fk; 
  

  Numbers of terms = 
616 22

1
6

− 
+ 

 
 1

l a
n

d

− 
= + 
 

 

       = 
594

1
6

+  

      = 100 
 
97.  The first and last terms of an A.P. are -7 and 233 and the sum AP is 9153. find the number 

of terms in the A.P. 
a. 81    b. 99   c. 49   d. 83 
xU $l;Lj;njhlh; thpirapy; cs;s Kjy; kw;Wk; filrp vz;fs; KiwNa -7 kw;Wk; 233 
mjd; $Ljy; 9153 vdpy; mt;thpirapy; cs;s vz;fs; (vj;jid) vt;tsT?  
a. 81    b. 99   c. 49   d. 83 

 
tpsf;fk; 
  

 Sn = ( )
2

n
a l+  

 9153 = ( 7 233)
2

n
− +  

 9153 = 226
2

n   

 
9153

113
n=  

 n = 81  
 
98. The A.M. of two positive numbers is 15 and their G.M. is 12. what is the smaller number?  

a. 6   b. 8   c. 12  d. 24  
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,uz;L vz;fspd; $l;L ruhrhp 15> ngUf;F ruhrhp 12 vdpy; ,uz;L vz;fspy; rpwpa vz; 
ahJ?  
a. 6   b. 8   c. 12  d. 24  

 
tpsf;fk; 
  

  15 30
2

a b
a b

+
=  + =  

  (a – b)2= (a+b)2 -  4ab    15
2

a b+
=  

  = (30)2 – 4 × 144      ab = 144 
   = 900 – 576  
  (a – b)2  = 324  
  a – b =   18 
  (a, b) = (6, 24), (24, 6)  
 
99. Find the sum of the first hundred even natural numbers divisible by 5.  

a. 50500  b. 55000  c. 50050   d. 50050  
5-My; tFgLk; Kjy; 100 ,ul;il vz;fspd; $Ljy; fhz;f.  
a. 50500  b. 55000  c. 50050   d. 50050  

 
tpsf;fk; 
  

  The no are even and divisible by '5' 
   10, 20, 30, ..... 1000 
   = 10 (1 + 2 + 3 + ..... 100)  

   = 10 
100 101

2

 
 
 

 

   = 50500 
 
100. If you save Rs 1 today Rs 2 the next day, Rs 3 the succeeding day and so on. What will be 

your total saving in 365 dyas.  
a. 66795   b. 66579   c. 56795  d. 76595 
ePq;fs; ,d;W & 1 ehis & 2 ehis kWehs; & 3 vd njhlh;r;rpahf 365 ehl;fSf;f 
Nrkpj;jhy; filrpapy; ePq;fs; ngWk; njhif vt;tsT?  
a. 66795   b. 66579   c. 56795  d. 76595 

  
tpsf;fk; 

 

  
365

365 366

2
S


=

 

  
= 365 × 183 = 66795  

 


